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See the following illustration for clarification.
Illustration 10.

Alpha corporation has four plants each of which can manufactyre 5
products. Production costs differ from one plant to another as do sajes ¢
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Sales Revenue (Rs. 000)
Products
Plant 1 2 3 4
A 50 68 e 1
B 60 70 51 74
C 55 67 53 70
\
D 58 65 54 69 |
Production Cost (Rs. 000)
Products
Plant
] 2 3 4
A eerimreee]
B 49 60 45 61
55 63 45 69
C 52
62 49 68
D 55
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:; Reduction and Making Assignment

Products
1 2 3 .
5 l__O—] 4 5
X X I [0]
[0] X 1 1
1 5 [0] 1

al solution is arrived and wecanassignﬂlevalu;s_ A—2,B—4,C—1,D—3
num Profit =8 + 5 + 3 + 6 = Rs. 22 (000)

owing assignment problem :

, A B C D E
L i 32 38 40 28 40
3 40 24 08 21 36
41 27 33 30 - 3%

20 38 41 36 v
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